BT Fo Y B B R A

@fE - E B RT

ERR244E  (20124F) 6H
2EEACEH R A EASS

AL (EEX0) 1202.10-091 20127E6 H 1H~12H %G

ESEZ BT B= B T B= B R
105 75 N BCIEAIE] 100010 | MT 0 = 0 0 = 0
o et 10000 [ MT 0 - 0 0 0
FEREEIEST 10001 | MT 0 = 0 0 0
TEAE A (%) 1202.20-091 201246 )] TH ~121 Bar

EE3 Fifiz | MT B= ELA YR B ELA Y
NEE NS 1000/ | MT 1,271 207] 263,208 10,223 195] 1,989,543
123 AF 1000 | MT 56 154 8,629 130 159 20,687
304 7 AUA G RE 1000 | MT 691 214 148,006 2,676 199 532,135
410 7o)V 1000 | MT 24 174 4,187 48 175 8,395
NN % 1000 | MT 0 = 0 613 174 106,541
551 73 7 7)) 70 JEFN[E 1000 | MT 0 = 0 1,061 136 197,822
601 A — AR T 1000 MT - -
o 1000 [ MT 2,042 208] 424,030 14,751 194] 2,855,123
HEEEEIEST 1000 | MT 3,235 159] 514,938 17,688 153 2,699,647
Rl BB A (GRAD) 2008.11-291 20127E6 H 1H~12H %5

[H 4 BT B= B T B= B T
105 e N R IR [E 1000 KG 245,161 0 49,444] 2,428,398 202 489,614
106 1% 1000 | KG 1,512 1 173 2,808 504 1,414
oal 1000 T KG 246,673 204] 50,217] 2,431,206 202 191,028
HEEEEEST 1000 | KG 260,242 169 44,078] 2,836,145 168 176,300
Rl 7= ARAE (ZDAfth) 2008.11-292 20127E6 H 1H~12H %5

ESEZ BT B= B T B= B R
208 X — 1000 KG 0 - 0 1,000 306 306
105 H13E AN R AEFI[E 1000 | KG 135,665 0 31,047 967,850 222 214,432
304 T AV &2 [E 1000 | KG 26,031 423 11,003 52,665 427 22.506
o et 1000 ] KG 161,696 260] 42,050] 1,021,515 232 237,244
FEREEIEST 1000 | KG 162,510 197 32,064 1,294,295 189 244,129
Z DA A S 2008.11-299
(RZE—F ) 20124E6 A 1A ~12H Rt

ESE 23 B FAM R B FAM Y
NEE NS 1000 | KG | 4,020,766 211]  848,801] 22,966,086 205] 4,700,585
410 770 1000 | KG 675 834 563 675 834 563
B 1000 [ KG | 4,021,441 211] 849,364 22,966,761 205] 4,701,148
AR EEIEST 1000 [ KG | 3,762,794 170] 640,841| 24,693,783 165| 4,073,429
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Z DIOVA T g8 i IR S 0)|_2008.11-120 2012FE6 1] TH~120 Bar

ESEZ BT B= B T = B T
105 H e A BJEADE 1000 KG 48,762 235 11,460 495,365 253 125,371
118 AV FRRTT 1000 | KG 0 = 0 444 493 219
111 #A 1000 | KG = =
117 7A4UE> 1000 | KG 0 = 0 3,360 157 526
304 7 AU AR 10001 | KG 68,067 484 32,971 676,313 425 287,696
410 7o)V 1000 KG 2,299 194 146 1,363 197 858
o 1000 | KG 119,128 377] 44,877] 1,179,845 351 114,670
EiEREEESES 1000 | KG 270,400 305 82,437 1,385,759 314 434,571
B —J X7 — (k) 2008.11-210 201246 H 1H~12H %5k

ESEZ BT B= B T B= B R
105 e N R IR [E 1000 KG 197,240 291 43,678] 1,906,379 291 421,016
302 BT X 1000 | KG = —
304 7 AU AR 10001 | KG 23,154 332 7,696 94,045 315 29,607
601 A —AFTU T 1000 KG - =
o 1000 | KG 220,394 233 51,374] 2,000,424 225 150,623
BRI ESES 1000 | KG 213,264 195 11,487 2,020,075 138 379,475
MG (Z5H) 0713.50-221 20127E6 H 1H~12H %3

ESEZ BT B= B T = B R
105 e N R IR [E 1000 MT 206 117 24,172 3,623 113 407,966
205 D lH 1000 | MT 0 — 0 58 63 3,627
217 RILRH IV 1000 | MT 0 — 0 57 195 11,099
302 BT A 10009 | MT = -
408 JRJE T 1000 | MT 0 — 0 35 210 7,360
601 A—ANIUT 1000 MT 152 58 3.802 448 63 28.025
B et 1000 MT 3583 92 32,974 4,991 109 158,077
BRI ESES 10001 | MT 320 120 38,507 3,318 118 151,753
e (ZALEY) 0713.10-221 201246 H 1H~12H 25k

ESEZ BT B= B T B= B T
105 e N R IR [E 1000 MT - =
205 TLlE 1000 | MT 195 67 13,157 1,607 75 121,017
207 /N ) — 1000 | MT 0 — 0 21 67 1,408
302 BT A 10009 | MT 367 61 22,280 3,934 63 248,800
304 7 AU AR 1000 | MT 60 67 3,995 1,031 382 84,229
601 A —ARTU T 1000 | MT 41 70 2,863 526 79 41,407
606 —=— > — T K 1000 | MT 63 84 5,276 275 36 23,740
B 1000 MT 726 66] 47,571 7,394 70 520,601
FEREEEST 1000 | MT 1,313 67 87,711 7,296 68 499,159
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B a—F 0801.32-000 201246 H 1H~12H %5k
ESEZ BT B= B T B= B T
110 T A 1000 KG 94,934 555 52,699 577,936 556 321,110
545 B —7 1000 | KG 0 = 0 15,852 626 9,931
123 AoF 1000 | KG 468,336 628] 294,149 2,915,455 714] 2,082,871
125 257 1000 | KG 1,200 1,658 1,990 3,090 1,335 4,124
541 T=7 1000 | KG 15,875 526 8,350 31,750 196 15,735
B et 1000 KG 580,345 615] 357,188 3,544,083 687] 2,433,771
AR EEIEST 1000 | KG 504,991 719] 362,880] 3,051,109 666| 2,030,957
7T —ER GEAT) 0802.11-200
AL—b T —FUR 201246 H 1H~12H 23
= FAL pan Al [ (%R T LA A
220 A2V 1000 | KG 0 = 0 2,000 204 107)
304 7 AUH G IR 1000 | KG 0 - 0 29.605 398 11,796
& et 1000 ] KG 0 = 0 31,605 386 12,203
FEREEIEST 1000 | KG 19,678 397 7,810 138,167 406 56,123
T —ELR RERWIZHD) 0802.12-100
EA—T7 —FELR 20124F6 A 1H~12H 2%
ESE 223 = L YR B FAM Y
10001 | KG = =
oal 1000 | KG 0 - 0 0 - 0
HEREEIESES 1000 | KG 0 - 0 0 - 0
T —ELR GRERRWZHD) 0802.12-200
Zp— T —FLF 20124E6 7 1H~12H %3
ESEZ BT B= B T B= B R
218 Ao 1000 KG 29,000 527 15,294 124,019 599 74,269
220 AZ)T 1000 | KG 0 - 0 60,120 590 35,458
304 7 AU BB A H 1000 | KG [ 2,342,906 437] 1,024,808] 15,355,980 426] 6,538,960
601 A — AR T 1000 KG = -
A 1000 | KG | 2,371,906 439] 1,040,102] 15,540,119 128] 6,648,687
HEREEIESES 1000 | KG | 2,360,112 433 1,022,731 14,746,388 150] 6,633,937
ERAF A G 0802.50-000 201246 H 1H~12H 25k
4 BT B= EER i T B= EER i T
133 47 1000 KG 12,500 731 9,137 29,000 742 21,523
213 RAY 1000 | KG = =
220 AZUT 1000 | KG = =
304 7 AUH G RE 1000 | KG 202,185 692] 139,951 976,198 703 686,706
NN % % 1000 | KG - -
B 1000 ] KG 214,685 694] 149,088 1,005,108 705 708,229
AR EEIEST 1000 | KG - =
VAR T A GREFRWTZHD) 0802.50-000 20124E6 H 130
EE3 LT B= ELA YR B ELA Y
133 A7 1000 | KG 0 = 0 46,185 1,911 38,265|
213 RAY 1000 | KG 28] 3,367 431 434] 3,885 1,686
220 AZ)T 1000 | KG 500] 3,066 1,533 8,220 4,727 38,856
304 7 AU G R 1000 | KG 7.076] 1,175 8,314 71,028 1,193 84,704
234 L3 1000 KG 0 - 0 300 2,947 884
oal 1000 T KG 7.704] 1,334 10,278 126,167 1,699 214,395
CHEREEERS 1000 | KG - -
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<55 GREEDHD) 0802.31-000 20127E6 H 1H~12H %G

ESEZ BT B= B T B= B T
304 7 AT 5 R IE 1000 | KG 0 0 39,507 362 14,311
o et 1000 | KG 0 = 0 39,507 362 14,311
FEREEIEST 1000 | KG - =
B GREBRWIZHD) 0802.32-000 20124E6 H TH ~121 Bar

ESE2 FNT B FAM YR B FAM Y
NEE NS 1000 | KG 12,000 693 8,319 234,137 723 169,323
210 7T A 1000 | KG 850 955 812 14,584 1,100 16,041
304 7 AU 2RI 1000 KG 887,965 924 820.693] 6,575,042 851] 5,595,172
o 1000/ | KG 900,815 921] 829,824] 6,823,763 847] 5,780,536
HEEEEIESES 1000/ | KG 904,388 712] 643,306] 6,232,979 686 4,277,621
~—P LG (F%H) 0802.21-000 2012456 H 1H~12H 25k

ESEZ BT B= B T B= B T
234 ML 1000 | KG 0 - 0 14,600 456 6,653
304 7 AV A& E 1000 | KG 0 - 0 1,500 407 610
&Rt 1000 ] KG 0 = 0 16,100 451 7,263
AR EEIEST 1000 | KG 0 0 0 630 481 327
~—PLF Y FBEERVESD) | 0802.22-000 201246 1 TH ~121 Bar

ESE2 FNT B FAM YR B FAM Y
218 AA o 1000 | KG = =
220 AZUT 1000 | KG 0 — 0 8,535 871 7,435
234 ML 1000 | KG 20,000 674 13,485 264,700 748 197,960
304 7 AV T B IR IE 1000 | KG - -
o et 1000 ] KG 20,000 674 13,485 273,235 752 205,395
AR EEIEST 1000 | KG 81,890 616 50,449 424,661 592 251,214
~ AT I TV (G 0802.60-000 201246 T~ T2/ BaT

ESE2 BN B FAM R B FAM Y
601 A —ARID ) 1000M | KG 0 = 0 9,090 367 3,339
oal 1000/ | KG 0 - 0 9,090 367 3,339
CEREEERS 1000 | KG - -
~HTIv T Y GEEERWEED) | 0802.60-000 2012556 H 2,676

[H 4 BT B= B T B= B T
304 7 AT AR IE] 1000 | KG 7,000 L,728 12,095 7,000 1,728 12,095
306 7 7T~ 1000 | KG 36,287 1,228 14,563 82.664] 1,242 102,684
410 75 )L 1000 | KG 0 = 0 11,340 1,202 13,636
541 =7 1000 | KG 0 — 0 226 2,274 514
551 7 7 ) 7 TN 1000 | KG 0 = 0 49,973 1,158 57,892
553 <7 A 1000 | KG 32,658 1,260 41,158 186,866 1,200 224,310
601 A —AFTU T 1000 KG 36,153] 1,339 18,416 315,801 1,398 141,752
ot 1000/ | KG 112,098] 1,305] 146,232 653,960 1,304 852,383
CEREREER S 1000 | KG - -
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B —F 0802.90-300 201246 )] TH ~121 Bar

ESE 223 B LA YR B LA Y
304 7 AV 7 4y 1000 | KG 35,614] 1,249 14,486 129,931 1,248 162,101
551 737 7)) 70 JEFN[E 1000 | KG 0 = 0 500 712 356
601 A — AR T 1000 KG 0 - 0 257] 2,735 703
el 1000 | KG 35,614] 1,249] 44,486 130,688 1,248 163,160
HEREEIESES 1000 | KG 6,079 1,287 7,824 110,439 1,215 134,165
L—R 0806.20-000 201246 H 1TH~12H 2T

ESEZ BT B= LA R = LA T
105 F 3 N BCHE A 1000 | KG 0 = 0 198,952 394 78,448
110 <FJ A 1000 | KG = =
123 A~F 1000 | KG 0 = 0 741 302 224
133 147 1000 | KG 0 = 0 3,638 650 2,365
218 A~A 1000 | KG 0 = 0 560] 1,068 598
220 AZVT 1000 | KG = =
230 XU ¥ 1000 | KG 0 = 0 1,680 516 867
234 [l 1000 | KG 179,338 226 40,457 787,499 229 180,348
304 7 AU BB A H 100017 | KG | 2,230,722 261  581,641] 12,755,996 256] 3,269,417
409 FV 1000 | KG 160,800 206 33,081 341,819 218 74,520
4113 TP T 1000 | KG = =
551 7 7 ) 7 TN 1000 | KG 52,500 223 11,725 188,250 230 43,323
601 A —AFTU T 1000 | KG 34,562 308 10,630 66,315 342 22,658
B et 1000/ [ KG | 2,657,922 255] 677,534 14,345,450 256] 3,672,768
FEREEEST 1000 [ KG | 2,401,134 250] 599,208 14,687,615 243 3,566,481
AT (Ll 0813.10-000 2012476 17 TH~12H %ar

S 223 B LA YR B LA Y
NEE NS 1000 | KG 0 - 0 31,500 204 7,051
210 7oA 1000 | KG 0 — 0 240 1,004 241
234 fLa 1000 | KG 40,075 421 16,853 295,376 395 116,726
304 7 AU BB A E 10001 | KG 26,761 499 13,352 123,898 961 119,113
551 FA 7 7 VA FEFNE 1000 KG 15,625 416 6,507 31,125 399 12,425
o el 1000 | KG 82,461 145 36,712 482,139 530 255,556
HEREEIESES 1000 | KG 28,345 636 19,434 366,675 596 218,692
7 )L— (Fa)E) 0813.20-000 20124E6 H 1H~12H %5

ESEZ BT B= LA T B= LA T
105 e N R IR [E 1000 KG = =
210 77 A 1000 | KG 600 622 373 35,771 362 12,946
113 TP T 1000 | KG 0 = 0 252 889 224
234 [l 1000 | KG 0 - 0 500 542 271
304 7 AU BB A E 10001 | KG | 1,344,653 276]  371,280] 6,318,671 280 1,766,219
409 FU 1000 KG 2,000 200 399 22,000 212 1,670
o el 1000 | KG | 1,347,253] 276] 372,052] 6,377,194 280] 1,784,330
HEREEIESES 1000 | KG | 1,519,485 247| 375,585 6,140,358 268| 1,645,151
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SEE R FLBHEAE A D KR, /NI OWE NGB
R = VR AL L 201255 )] T~121 %ar

ESE3 PiREAA BE WEHE PE BE WEHE PE
105 T3 N e JE A MT 0 0 0 0 0 0
(LRI R MT 0 0 0 0 0 0
PRI DTSN 201245 1 1~12)] Bar

ESE3 PRSI BE WEHE PE BE WEHE PE
NEE NS MT 200] 1,022 —822 3,913 5,210 ~1,297
304 7 AU N5 RE MT 19 18 1 37 18 19
601 A —AFU 71 MT 0 0 0 0 0 0
DRl MT 219] 1,040 —821 3,050] 5,228 —1,278
R R AL (B ) 2012755 11 1~12H Zar

E% B B B= WEAE TR B= WEAE T
105 H e A BJEAD[E MT 1,027] 1,153 -126 5,039 4,424 615
111 #A MT 0 0 0 0 0 0
123 AR MT 56 18 38 74 54 20
304 7 A5 MT 463 563 —105 1,948 2,676 —728
4110 7920 MT 0 0 0 24 17 7
411 577 A MT 0 0 0 0 0 0
R % MT 37 97 ~60 613 341 272
551 73 7 7)) 70 FEFNE] MT 71 157 —86 1,061 1,632 —571
601 A — ARV MT 0 12 —12 0 81 —81
Rt MT 1,664] 2,005 =351 8,750 9,225 ~7166

6/6




